
� No.252Q約両方-10-1 �

No.252Q約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 408.3÷ 0.9 (2) 217.3÷ 0.03

(3) 67.82÷ 0.07 (4) 416.6÷ 0.06

(5) 0.886÷ 0.03 (6) 23.5÷ 0.07

(7) 2.153÷ 0.06 (8) 469.7÷ 0.9

(9) 530.3÷ 0.7 (10) 5640÷ 0.9

� 13th-note �



� No.252Q約両方-10-1 �

No.252Q約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 408.3÷ 0.9
454
453.6 · · ·

(2) 217.3÷ 0.03
7240
7243 · · ·

(3) 67.82÷ 0.07
969
968.8 · · ·

(4) 416.6÷ 0.06
6940
6943 · · ·

(5) 0.886÷ 0.03
29.5
29.53 · · ·

(6) 23.5÷ 0.07
336
335.7 · · ·

(7) 2.153÷ 0.06
35.9
35.88 · · ·

(8) 469.7÷ 0.9
522
521.8 · · ·

(9) 530.3÷ 0.7
758
757.5 · · ·

(10) 5640÷ 0.9
6270
6266 · · ·

� 13th-note �



� No.252Q約両方-10-2 �

No.252Q約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 582.9÷ 0.09 (2) 5.379÷ 0.07

(3) 1381÷ 0.7 (4) 8.49÷ 0.03

(5) 816÷ 0.3 (6) 52.38÷ 0.09

(7) 36.99÷ 0.6 (8) 20.74÷ 0.03

(9) 4.473÷ 0.09 (10) 1.606÷ 0.09

� 13th-note �



� No.252Q約両方-10-2 �

No.252Q約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 582.9÷ 0.09
6480
6476 · · ·

(2) 5.379÷ 0.07
76.8
76.84 · · ·

(3) 1381÷ 0.7
1970
1972 · · ·

(4) 8.49÷ 0.03
283

(5) 816÷ 0.3
2720

(6) 52.38÷ 0.09
582

(7) 36.99÷ 0.6
61.7
61.65

(8) 20.74÷ 0.03
691
691.3 · · ·

(9) 4.473÷ 0.09
49.7

(10) 1.606÷ 0.09
17.8
17.84 · · ·

� 13th-note �



� No.252Q約両方-10-3 �

No.252Q約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 59.68÷ 0.7 (2) 40.33÷ 0.6

(3) 1.999÷ 0.07 (4) 17.02÷ 0.3

(5) 22.83÷ 0.7 (6) 46.74÷ 0.09

(7) 20.84÷ 0.03 (8) 5.82÷ 0.03

(9) 488.2÷ 0.7 (10) 1321÷ 0.7

� 13th-note �



� No.252Q約両方-10-3 �

No.252Q約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 59.68÷ 0.7
85.3
85.25 · · ·

(2) 40.33÷ 0.6
67.2
67.21 · · ·

(3) 1.999÷ 0.07
28.6
28.55 · · ·

(4) 17.02÷ 0.3
56.7
56.73 · · ·

(5) 22.83÷ 0.7
32.6
32.61 · · ·

(6) 46.74÷ 0.09
519
519.3 · · ·

(7) 20.84÷ 0.03
695
694.6 · · ·

(8) 5.82÷ 0.03
194

(9) 488.2÷ 0.7
697
697.4 · · ·

(10) 1321÷ 0.7
1890
1887 · · ·

� 13th-note �



� No.252Q約両方-10-4 �

No.252Q約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 44.29÷ 0.9 (2) 22.37÷ 0.03

(3) 28.66÷ 0.3 (4) 61.49÷ 0.07

(5) 276.9÷ 0.03 (6) 106.3÷ 0.3

(7) 5470÷ 0.7 (8) 95.3÷ 0.03

(9) 13.67÷ 0.3 (10) 38.18÷ 0.06

� 13th-note �



� No.252Q約両方-10-4 �

No.252Q約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 44.29÷ 0.9
49.2
49.21 · · ·

(2) 22.37÷ 0.03
746
745.6 · · ·

(3) 28.66÷ 0.3
95.5
95.53 · · ·

(4) 61.49÷ 0.07
878
878.4 · · ·

(5) 276.9÷ 0.03
9230

(6) 106.3÷ 0.3
354
354.3 · · ·

(7) 5470÷ 0.7
7810
7814 · · ·

(8) 95.3÷ 0.03
3180
3176 · · ·

(9) 13.67÷ 0.3
45.6
45.56 · · ·

(10) 38.18÷ 0.06
636
636.3 · · ·

� 13th-note �



� No.252Q約両方-10-5 �

No.252Q約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 288.7÷ 0.3 (2) 4.423÷ 0.07

(3) 40.8÷ 0.3 (4) 357.1÷ 0.06

(5) 133.5÷ 0.03 (6) 400.7÷ 0.06

(7) 57.83÷ 0.7 (8) 37.18÷ 0.6

(9) 331.9÷ 0.6 (10) 3184÷ 0.9

� 13th-note �



� No.252Q約両方-10-5 �

No.252Q約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 288.7÷ 0.3
962
962.3 · · ·

(2) 4.423÷ 0.07
63.2
63.18 · · ·

(3) 40.8÷ 0.3
136

(4) 357.1÷ 0.06
5950
5951 · · ·

(5) 133.5÷ 0.03
4450

(6) 400.7÷ 0.06
6680
6678 · · ·

(7) 57.83÷ 0.7
82.6
82.61 · · ·

(8) 37.18÷ 0.6
62.0
61.96 · · ·

(9) 331.9÷ 0.6
553
553.1 · · ·

(10) 3184÷ 0.9
3540
3537 · · ·

� 13th-note �



� No.252Q約両方-10-6 �

No.252Q約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 18.35÷ 0.03 (2) 776.1÷ 0.09

(3) 108÷ 0.07 (4) 696.6÷ 0.07

(5) 2641÷ 0.7 (6) 20.7÷ 0.3

(7) 5.405÷ 0.07 (8) 446.5÷ 0.06

(9) 1.995÷ 0.03 (10) 64.45÷ 0.9

� 13th-note �



� No.252Q約両方-10-6 �

No.252Q約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 18.35÷ 0.03
612
611.6 · · ·

(2) 776.1÷ 0.09
8620
8623 · · ·

(3) 108÷ 0.07
1540
1542 · · ·

(4) 696.6÷ 0.07
9950
9951 · · ·

(5) 2641÷ 0.7
3770
3772 · · ·

(6) 20.7÷ 0.3
69

(7) 5.405÷ 0.07
77.2
77.21 · · ·

(8) 446.5÷ 0.06
7440
7441 · · ·

(9) 1.995÷ 0.03
66.5

(10) 64.45÷ 0.9
71.6
71.61 · · ·

� 13th-note �



� No.252Q約両方-10-7 �

No.252Q約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 212.2÷ 0.6 (2) 60.06÷ 0.07

(3) 61.82÷ 0.7 (4) 187.6÷ 0.07

(5) 6429÷ 0.9 (6) 626.5÷ 0.07

(7) 26.54÷ 0.03 (8) 3.186÷ 0.07

(9) 341.2÷ 0.06 (10) 1.623÷ 0.03

� 13th-note �



� No.252Q約両方-10-7 �

No.252Q約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 212.2÷ 0.6
354
353.6 · · ·

(2) 60.06÷ 0.07
858

(3) 61.82÷ 0.7
88.3
88.31 · · ·

(4) 187.6÷ 0.07
2680

(5) 6429÷ 0.9
7140
7143 · · ·

(6) 626.5÷ 0.07
8950

(7) 26.54÷ 0.03
885
884.6 · · ·

(8) 3.186÷ 0.07
45.5
45.51 · · ·

(9) 341.2÷ 0.06
5690
5686 · · ·

(10) 1.623÷ 0.03
54.1

� 13th-note �



� No.252Q約両方-10-8 �

No.252Q約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 1014÷ 0.6 (2) 57.85÷ 0.7

(3) 74.31÷ 0.9 (4) 496.7÷ 0.06

(5) 7.61÷ 0.03 (6) 3.75÷ 0.3

(7) 1162÷ 0.6 (8) 523.4÷ 0.7

(9) 3.652÷ 0.07 (10) 25.47÷ 0.07

� 13th-note �



� No.252Q約両方-10-8 �

No.252Q約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 1014÷ 0.6
1690

(2) 57.85÷ 0.7
82.6
82.64 · · ·

(3) 74.31÷ 0.9
82.6
82.56 · · ·

(4) 496.7÷ 0.06
8280
8278 · · ·

(5) 7.61÷ 0.03
254
253.6 · · ·

(6) 3.75÷ 0.3
12.5

(7) 1162÷ 0.6
1940
1936 · · ·

(8) 523.4÷ 0.7
748
747.7 · · ·

(9) 3.652÷ 0.07
52.2
52.17 · · ·

(10) 25.47÷ 0.07
364
363.8 · · ·

� 13th-note �



� No.252Q約両方-10-9 �

No.252Q約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 25.07÷ 0.06 (2) 0.577÷ 0.03

(3) 6917÷ 0.9 (4) 40.71÷ 0.6

(5) 7780÷ 0.9 (6) 26.15÷ 0.7

(7) 42.7÷ 0.03 (8) 125.3÷ 0.3

(9) 871.4÷ 0.09 (10) 380.9÷ 0.6

� 13th-note �



� No.252Q約両方-10-9 �

No.252Q約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 25.07÷ 0.06
418
417.8 · · ·

(2) 0.577÷ 0.03
19.2
19.23 · · ·

(3) 6917÷ 0.9
7690
7685 · · ·

(4) 40.71÷ 0.6
67.9
67.85

(5) 7780÷ 0.9
8640
8644 · · ·

(6) 26.15÷ 0.7
37.4
37.35 · · ·

(7) 42.7÷ 0.03
1420
1423 · · ·

(8) 125.3÷ 0.3
418
417.6 · · ·

(9) 871.4÷ 0.09
9680
9682 · · ·

(10) 380.9÷ 0.6
635
634.8 · · ·

� 13th-note �



� No.252Q約両方-10-10 �

No.252Q約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 5.957÷ 0.09 (2) 406.7÷ 0.06

(3) 220.8÷ 0.09 (4) 3.493÷ 0.06

(5) 3.099÷ 0.07 (6) 1.136÷ 0.03

(7) 13.34÷ 0.06 (8) 1.957÷ 0.09

(9) 531.5÷ 0.07 (10) 391÷ 0.6

� 13th-note �



� No.252Q約両方-10-10 �

No.252Q約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 5.957÷ 0.09
66.2
66.18 · · ·

(2) 406.7÷ 0.06
6780
6778 · · ·

(3) 220.8÷ 0.09
2450
2453 · · ·

(4) 3.493÷ 0.06
58.2
58.21 · · ·

(5) 3.099÷ 0.07
44.3
44.27 · · ·

(6) 1.136÷ 0.03
37.9
37.86 · · ·

(7) 13.34÷ 0.06
222
222.3 · · ·

(8) 1.957÷ 0.09
21.7
21.74 · · ·

(9) 531.5÷ 0.07
7590
7592 · · ·

(10) 391÷ 0.6
652
651.6 · · ·

� 13th-note �


